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18. f53ft wie OIsH &1 YR U FHaTg BT 81 39 3R 13 e o1 8 It
g1 i fos 35ag 1o s1urT HifSre , Afe s &1 3mad= 328,/3 &1 9t &1

Q dtdsw

2

2
19.3C z = asech3iRy = btan@iﬁ,?ﬁﬁﬁ@ﬁﬁf@%m— _ ¥ 1.

a? b2

omaﬁvéﬁ

20. THIUT T HIfaTv :

cos 0 cos 0 _ 5
cosech + 1 cosec—1

O dfdswm @

21.K & fos A & faw f9g (1, 4), (K, — 2) 31R ( — 3, 16) IRA@ &Y 2

O dfdswm @



https://dl.doubtnut.com/l/_WDQiH38RfBCf
https://dl.doubtnut.com/l/_AWjQi7h1giFb
https://dl.doubtnut.com/l/_0r5kEwiYldd4
https://dl.doubtnut.com/l/_mLB7iEmv479t
https://dl.doubtnut.com/l/_wE6hrHcuvreq

22. 39 fdg & fAgais® sid Hifaw 3 fomgan (2, 1) 3R (— 3, — 4) & AN
et 3T Bl 2: 3 & 3UTd H 37+ [T e gl

O dfdswm @
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